’(v‘
<

10. Joseph will have a 200-foot-long fence
around his yard. The A+ Fence Compa
$500.00 fee, plus a set amount per foot of
A+ Fence COmDam has given Joseph an est
$2.200.00 to install the fence around his yard.
“he set amount per foot of fence?
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3¢. The figure below shows 2 tangent circles such that the
10-centimeter diameter of the smaller circle is equal to
the radius of the larger circle. What is the area, in
square centimeters, of the shaded region?
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32. For AABC shown below, base AC has a length of

16 inches and altitude BD has a length of 8 inches. The

area of a certain sqn" e is equal to the area of AABC.
What is the length, in inches, of a side of the square?

P 0
(D) bt ek
1 ON B 00 Ch

43. The height and radius of the right circular cylinder
below are given in meters. What is the volume, in
cubic meters, of the cvlinder?

D
[ |
A, 30m I D }6
B. 3ix o RN
C. 150n £ ]
D. 180x
E. 900% B

§4

yas cut to fit exactl
2 Vm;at is the area, i
e photograph that wa

m?.‘!‘(l

.
Do
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B
C.
D
B

B bt bt et
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19, In the figure below, A, D, C, and E are collinear. AD,
BD, and BC are all the same length, and the angle
measure of ZABD is as marked. What is the degree
measure of ZBCE ?

259
N\
A ‘ D ' E
F. 50°
G. 100°
H. 105°
J.o130°
K. 160°

. £ . .F, %
18. A sguare is circumscribed about a circle of /-100t
: . = . the calare
radius, as shown below. What is the area of the square,
in square feet?

F. 48
G. 56
H. 98
3. 49m
K. 196

29. Thomas and Jonelle are playing darts in their garage
using the board with the point values for each region
shown below. The radius of the outside circle is
10 inches, and each of the other circles has a radius

hes smaller than the next larger circle. All of the

30 points to win the
s last dart hits at a random
region on the board, what is the

m Yoo

hat is the degree measure of the smaller of the
2 angles formed by the line and the ray shown in the
f; .

A, 14

B. 2

C. 29

B, 3

E. Ca be determined from the given information




29. Which of the following inequalities is equivalent to

—2x—6vy>2y—-47
A, x<—4y 42
B, x>-4y+2
C. x< 2y+2
D. x< 4v+2
E. x> 4y+2

16. In the figure below, vertices D and F of ADEF lie on
CG, the measure of ZCDE is 148°, and the measure of
ZEFG is 140°. What is the measure of Z/DEF ?

&
2
148° 140°
C D F G
E. 72°
G. 98°
H. 100°
J. 108°
K. 116°

28. 40% of 250 is equal to 60% of what number?

F 150

oo
.
[}
o)
Wi

Gy
8]
~1
<

K. 375

13. In aABC, side c=3 and side a=7. If /B is the
largest angle, then side b could be:

(A) 3
®) 4
© 9
D) 10

® 11
14, What is the area of 3 30-60-90 triangle whose
shortest leg is 2?

(A) 2
®) 242

(0] 2'\,/?:
®) 42
® 43

E) 11




5. What is the side of an equilateral triangle whose
aldrude is 37

(A) 1.5
®) V3
—
© 243
o) 3
®) 0
6. What is the area of a square whose diagonal is 2?
(A) 2
®) i
© 2

™) V2
® 4

14. A dircle is inscribed in 2 square, as shown below.
1f the diagonal of the square is 36 units, then what is
the diameter of the circle?

7 ’A /

7 s X
/ P B
7 P 13
/ A i

3 {:*; o 1
A
/
J/
P
e
o

(A
®)
©) 18+/2
D) 36v2
®) 642

4. Inthe patallelogram below, what is the measure of
z (in degrees)?

@) 15
®) 30
© 45

D) 60
®) 90




9. One side of a triangle is 7 and another side is 10.
Which of the values below could be the third side o
the triangle?

£
i

L 2 IV 16

II. 3 V.17

1. 4 VI 18
ey I and IVonly
B) ITand V only
© 11T 2nd IV only
®) L, II and ITI only
=) IV, V, and VI only

10. In the diagram below, AABC ~aDEF . What is
the value of y-x?

£
AN j/ \\
/ N

A - ¢
2 D ;
(A) 53
®) =8
© 5/3
O 7
®) 63

11. A six foot tall man stands in the shadow of 2 18
foot tall telephone pole. If the man is standing three
feet from the base of the telephone pole, what is the
length of the telephone pole’s shadow?

(A) 3

(B) 35

(@) 4

©) 43

(E) Cannot be determined

8. If the area of a square is 10 square units, what is
the sum of its diagonals?




~

The diagram below pertains to problems 1-3.

I

ok

1. What is the perimeter of A ABC'?

) 3x+15

®) x+15

© X(r+7)(x +8)

D) X H(x+7) +(x+8)
@) y )52 + (X -+ 7)2

2. 1f B is a right angle, what is the area of A 4BC.

(A) 3x+15
(B) x+15
1
® —x(x+7)
© 5 (x+7)
D 1)( &)
( —x(x+
) 5
E) ;(x+7}(x+8)

o}

3. If B is a right angle, what is the value of x ?

®) 4
©) 5
) 12
®) 13

1. Which of the following statements must be true?

L a=c¢
i a=d
III. a+b=c+d
A I only
B) 11 only
(®) 111 only
D) Tand IT only
E) T and IIT only

2. Which of the following may not be

supplementary?
(A) aandb
®) aand ¢
© aandd
D) bandc
) candd




6. Which of the following ma_hemaqcal expressions is

equivalent to the verbal expression “A na.n})er, %,
squaied is 39 more than the product of 10 and x7 7

F. 2x =39 +10x
G. 2x =39+ 10x
H., x*=3% —-10x
J. #=39 + x°
K. x=39 +10x

8, Discount tickets 10 a basketball tournament %ell f
$4.00 each. Enrico spent $60.00 on discount tickets,
$37.50 less than if he had bouﬂght t}}e tickets at the
regular price. What was the regular ticket price:

F. S 250
G. $ 640
H. $ 650
Jj. $7.50
K. $11.00

10. A rectangle has an area of 32 squa
perimeter of 24 feet. What is the short
lengths, in feet, of the rectangle?

efetanda
st of the side

T
=
o

F R
G. 2
H. 3
J. 4
K. 8

11. In AABC, the sum of the measures of LA and £B is
47°. What is the measure of LC 7

47°
B. 86°
C. 94°
D
E

s

133°

143°

13. Fol 2 consecutive integers, the r
smaller integer and triple the lar rger integ
are the 2 mtegels?

A, 18,19

0 re

B. 19,20

C. 20,21

B. 26,27

E. 36,40
If 3" = 54, then which of the following must be true?
A, 1<x<?2
B. 2<x<3
C. 3<x<4
D. 4<x<5
E. S5<x




26,

The Iength of a rectangle is 3 times the length of a
smaller rectangle. T‘le 2 rectangles have the same
width. The area of the smaller rectangle is 4 square
units. The area of the larger rectangle is kA square

units. Which of the following is the value of k£ ?

F. é
G 1
H. 1
I3
K. 9

27. In right triangle AACE below, BD is parallel to AE,

and BD is perpendicular to_ EC at D. The length of AC
is 20 feet, the length of BD is 3 feet, and the 1‘311601 of
CD is 4 feet. What is the length, in feet, of AE

W

.

otk
Lo

§

Cl=Tel=ks
o

—
~J

A
7,
?
B
3 1
E D4 C

Jerome, Kevin, and Seth shared a submarine sandwich.

Jerome ate & of the sandwich, Kevin ate 1 of the

2 | 3

sandwich, and Seth ate the rest. What is the ratio of

Jerome’s share to Kevin’s share to Seth’s share?

.
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31. For AFGH, shown below, which of the following is an
expression for yin terms of x 7

s

MY QoW

Iy

5§

];'78
4 meters lor

F x meters G




34. The graph of y = -5 + 9 passes through (1.24) in the
standard (x,v) coordinate plane. What is the value of g 2

e

i
00 M~ 5 1O

PR G I
|

36. A particular circle in the standard (x.y) coordinate
plane has an equation of (x - 5)2 + yz = 38. What are
the radius of the circle, in coordinate units, and the
coordinates of the center of the circle?

radius center

F. V38 (50
G. 19 (50
H 38 (50
J. V38 (-50)
K. 19 (=50

i | i f raar nd
37. The figure below consists of a sq%{?ie' athe
2 semicircles, with dimensions as §hown. W lr)at is
outside perimeter, in centimeters, o1 the figure?

le—8 cm—>]

SC\I‘Q

\
A, 8+ &m
B. 16+ 8m
C. 16+ 16m
D, 32+ 8%,
E. 32+ 16n

40. What is the surface area, in square inches, of an 8-inch
cube?
E. 512
G. 384
H. 320
J. 256
K. 192

AE || €D, AE bisects ZBAC, and
1e measure of LBAC is 82

E

A B

'}

P

. 86°
88°
90°
92°
Cannot be determined from the given in

D O e

formation




39. The coordinates of the endpoints of CD, in the
standard (x.y) coordinate plane, are (—4,-2) _aﬂﬁi (14.2).
What is the x-coordinate of the midpoint of CD ?

A, O
B. 2
C. 5
B. 9
E. 10

48. In the circle shown below, chords 7R ‘and OS5 intersect
at P, which is the center of the circle, and the measure
of ZPST is 30°. What is the degree measure of minor
arc RS ?

30°
45°
60°
90°
Cannot be determined from the given information

R S T (Y

I 1
I ] ix |2 ) equals ad — cb.
33, The determinant of a matrix E d} equals a b
x 8]

. natrix |~ 10
What must be the value of x for the matrix L_ -

a

have a determinant of =16 7

A. -4
B. -2
c. -2
p. %
E. 4

56. Triangles AABC and APQOR are shown below. The
given side lengths are in centimeters. The area of
LABC is 30 square centimeters. What is the area of

APQR, in square centimeters?

AD
F. 15
G. 19
H. 25
J. 30
K. 33




